Lab Exercise #3
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= Version 1: No Information Hiding
= Version 2: Basic Information Hiding

= Version 3: Change Internal Representation
of Weight
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Version 1:
i No Information Hiding (1)

Yehicle

+load : double
+naxlLoad : doubhle

———————— weightin kilograms

+¥ehicle fmazx load: double) b
+getload{) : douvbkle [~ —————1 weightin kilograms

+qetMaxLoad() : double

s HIAE T Z )2 TestVehicleO| Vehicle2l 0H

EQIRESS T UNAS £ YTE B2

NE public & &HC}.
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Version 1:
i No Information Hiding (2)
__I_).

s 22 UML CHO|H O &=
cHAE EF_EP.
» OHECIFE  load — &M &2 2}
maxLoad zlUiet &= = A= &2 2
« MAX: maxLoadES x|}
s HAE @ load? maxLoadgti= €0 @&
getLoad(), getMaxLoad()

(2] UMLel D15
+: public, -: private, #: protected
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Version 1:
i No Information Hiding (3)

s OF2H 2t 20| =g 0ot= TestVehicle 22A S
Ot= P.

Creating a vehicle with a 10,000kg maximum load.
Add box #1 (500kg)

Add box #2 (250kg)

Add box #3 (5000kg)

Add box #4 (4000kg)

Add box #5 (300kg)

Vehicle load 1s 10050.0 kg
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Version 2.
iBasic Information Hiding (1)

Vehicle
-load : double
-mazlioad : dovhle [ T T T T weightin kilograms

+¥ehicle{max load: double)
+getLoad{y : double

+getMazload(y : douhle [T T T T T T Weightinkilngrams%
+addBox{weight : double) : boolean

 HIZLE U TlOH e Z20A dolgE
=J| D (private), & J_L} HEe= 5ol &t
A= addBox() HIAEE MSEHC
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Version 2:
iBasic Information Hiding (2)

s 212 UML GOl Q8= *&lot= Vehicle 2

HAZ QECH

— = —
« OHECZIRE : load, maxLoadl &IZ2A=
private@z 3
» HAE  HEsS 82 80tAH EME
Hol= addBox(DE ZF=J}etLl.
ZUHEMSES =otH fFalse, =itotAl
HOMH trueE Btatstlt.
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Version 2:

iBasic Information Hiding (3)

s OF2 2 20| =& 0ol= TestVehicle 22 A E Bt

= L}.

Creating a vehicle with a 10,000 kg maximum load.
Add box #1 (500kg) : true

Add box #2 (250kg) : true

Add box #3 (5000kg) : true

Add box #4 (4000kg) : true

Add box #5 (300kg) : false Vehicle load 1s 9750.0 kg
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Version 3: Change Internal
iRepresentation of Weight (1)

VYehiclel

-load : double
-maxLoad : double

________ weightin newtons

+Wehicles(max load: double)
+getLoadi) : double

+getMaxload() . double 0 o — 7 — 7] weightin kilngrams%
+addBox (weight : double) : hoolean
-newtsToEilo{double) : double
-kiloToNewts {double) : double

s 2D LHE UI0IE 2 &= NewtonO| 2, 2
2 {02 &=+ = kilogramO|Ct. A2 CIE

CHRl = gis BHEtot)| ?let =S FItetlt
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Version 3: Change Internal
iRepresentatlon of Weight (2)

s 929 UML CHO|H{ O &= & ol= Vehicle 2¢H

I

A2 0LE(}
= ;;
» RIS BHEE = e HAES FIetl.

private double kiloToNewts(double weight)
{ return (weight * 9.8); }

private double newtsToKilo(double weight)
{ return (weight /7 9.8); }

. Ac'iédﬂ getLoad(), getMaxLoad(), addBox()
HAEJ 2] HAEE AIE0otH HPE HEot =

—’.‘—Z‘éé._FEP.
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Version 3: Change Internal

iRepresentation of Weight (2)

= Version 22| TestVehicle 2 AE AIE0IH &

ot Zit= Ofc2r €Lt

Creating a vehicle with a 10,000 kg maximum load.
Add box #1 (500kg) : true

Add box #2 (250kg) : true

Add box #3 (5000kg) : true

Add box #4 (4000kg) : true

Add box #5 (300kg) : false Vehicle load 1s 9750.0 kg

T2y HH 2 2eHA S 12



o2
i

2gltll 3.2-2

banking

Acocount

-halance . doubhle

+account{init balance : double)
+getBalance() : double
+depositi{amt : double)
+withdraw{amt : double)

= banking IHI| Al LHO| HIA EEE JtAlLD Y=
Account 2cHAE XA SHCH. Accout 2 A0 2HEHSE
EHdMNHAZ AMG= TestBanking 2 A E &2 H SHEF.
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i banking IH 3| Xl (1)

s LIS EL

= C:\0O|&\TestBanking. java
C:\0l&\banking\Account. java

s Account 22124

» OHEC

« O] O 2{0l package banking; =
2 E  balance — H At &I &
MA XL balanceE x=J|3H(doubled 2
= HAE D getBalance() — &Ml &S
deposit() - &2== &
withdraw() — == & &
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ibanking IH 3| X1 (2)

= TestBanking 2ciA
« LIPSO O 20| import banking.*; ZJI8tLt.

= A HAESIH &, E== & ddot) H M2 AE!
= =dole= Zudte Ofefet 20
Creating an account with a 500.00 balance.
Withdraw 150.00
Deposit 22.50
Withdraw 47.62

The account has a balance of 324_.88

o
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i Customer 22 A BHSD|(1)

banking

Customer Bocount
-firstMame : String ‘&H—halaﬂce : double
-lastName : String +hccountiinit balance - double)
+Customer{f : Strinmg, 1 : String +getBa]_.anu:e{} + double
+getFirstName{) : String +d§E1c;31t{amtt: d;ubu;_]e-}
+gqetlastName () : String +withdraw(amt : double)
+getaccount () : Account
+seticcount facct © Account)

= banking I{2| X0l Customer Z2HAE F=II0H(
banking Z=XES Z&Astlt. Customer 2t
= Account 2LERES JtA[LD ULt
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i Customer 22 A BHSD|(2)

s Customer =2 A

It ol 0 2[0 package banking; Z=JI8tLt.
OHECIFE : FirstName, lastName, account
MAXE - String EF22l £2F 182 II2HDIEHZ
SOt FirstName, lastName= =J|&}

OiA~% : getFirstName(), getLastName()

— FirstNamell lastNamegi= &H=0]

c|B8ole Ot

setAccount() — accountO g}
getAccount() — accountl g}
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i Customer 22 A BHSD|(3)

s TestBanking 2cdiA

Lol o 20 import banking.*; =Jt&t

= ddoty, DR HXMO0l et &, === &
ot Lo HEES ESole e PEHEBP & Lt
Creating the customer Jane Smith.

Creating her account with a 500.00 balance.
Withdraw 150.00

Deposit 22.50
Withdraw 47.62
Customer [Smith, Jane] has a balance of 324.88
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i Bank 2ciA 2HSD((1)

banking
Bank
+Bank (3
+addCustomer (£:5tring, L1:5trcing)
+getNumdfCustomers () : int
+getlustomer {index: int) : Customer

T custorrers i+

= banking 7| Xl 0l Bank 2¢H

A =
HAS 02 Yol DS IIE 4 UE= ASEICH

account »
G Customer " Account

¢

= =
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iBank 2eA GHEDI(2)

s Bank 2224

= OHECIRE : customers — Customer[]Z
numberOfCustomers — customers g2

CIS indexES S AXlol)| ¥ intE
s MAIXL - customers? HBHE 3AJIE 1022 =D|3t
« HAE : addCustomer() — MZ& Customer
HHE 20tA customersOl & stCh. 0] ([H
numberOfCustomers?l gt S IHAIZICH.

A =2 o

getNumOfCustomers() —numOfCustomers z&!
2| &

getCustomer() — =0 & index Ut2t0lE Ol
olEdot= customerE 2| &

uio
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iBank 2o A GHED|(3)

= TestBanking 2cdiA

« WOl O 2/0f import banking.*; Z=JIStCh.
= bank 2ciA 2l customersE =doles Z210=

OtcHet ZLf.
Customer [1]
Customer [2]
Customer [3]
Customer [4]

Simms, Jane
Bryant, Owen
Soley, Tim
Soley, Maria

w n unu ou
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